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1 KEEHEBARKXEER
K %P (1) N B F & K %5
Bk #H & JK EV/N JK K
46 A 13 A 49 12A
(ORI hE, DT A TE) CRORTH T AR
ko AFI4FE8H 1 H
H 1 TryFELVETZOLEGY | mgl 0.002 4 i 0.0024 i 0.0024 i 0.002 4 i
H2 770y k 2o d ® | mgl 0.0002AKif5 0.0002AKif5 0.0002AKif5 0.0002Kif5
H3 =y rrRoezoftsd | mgl 0.002A 0.002A 0.002A 0.002A
B 4 Hil 53
Hs 12 — Y 28w wr x> | mgl 0.0004K3i 0.0004K1i 0.0004 K3 0.0004 A3
H 6 Hil 53
B 7 Hil 53
H 8 b 2 - v | mgL 0.04K:7ii 0.04K:7i 0.04 K3 0.04K:7ii
H 9| O 74Ny (2—=F L~F L) | mgl 0.008 A i 0.008 A i 0.008 A 0.008 A
H 10 [if} i} # it | mg/L ko 0.064 it ko 0.06A it
H 11 Hil 3
Hiz2| = i il H #
BBlOY Z7uewe 7t h="FU/ | mgL stk 0.001 sk 0.001 A il
B4l O Xk 27 m Z — | mglL koo 0.004 ok 0.002 it
H 15 J E-S 1 BHE  RIEE S R
H 16| O 7% B - F# | mgL kst 0.7 sk 0.8
H 17 77”“/7(2?7;*;:/7A%‘ mg/L 35 37 35 37
H18] ~v A vk OZxofkd® | mgl 0.004 0.001Aifi 0.006 0.001 A i
H19 E At 17 iz | mg/L 204 2.8 204 2.1
H 20 LIl = Y 7 emBo =% | mgl 0.03 A3 0.03 A3 0.03 A3 00343
H2l] AF AV —t—7FNLZ—F/ | mgl 0.002 4 i 0.002 4 i 0.002 4 i 0.002 4 i
A2l oy momnyn nagem, | ™0 34 15 33 Il
23 B < W E (T O N ) | mgL WD I i A & e
H 24 P e 7% ® # | mg/L 72 76 65 74
H 25 ki) & | mgL 0.7 0.1A35 1.0 0.1A35
H26| pH fl | o 8.5 73 7.6 7.4
B 27 R (Z 07U T HE B [ e ok -1.7 ok 1.5
Hog| & B K ® M W |[HREmL 320 2 560 4
H 29 1 —Y7wmvpBp=xF L v | mgl 0.01 AT 0.01 AT 0.01 AT 0.01 AT
H30] 7AI=0AROZTOLAEY | mgl 0.0 1A 0.04 0.03 0.06
H3ll®@P F OS & O®PF OA| mgL okt ks 0.000006 0.000005 45
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K %P (1) N B F & K %5
Bk #H R JEK EVIN JEK K
AFI44E11H 148 ASH2A13A
Ooh ??EZE?E%@?)IEEE - A FI44E11 A TH A FISHELA 10 H
@ IEH 134 H) FR4FEILA8A BR5E2A 8 H
ko AFI5HFE2H8H
H 1 TryFEVEOTZOLEGY | mgl 0.0024 i 0.0024 i 0.002 4 i 0.002 4 i
H2 770k O2ofbd ® | mgl 0.0002Kif5 0.0002Kif5 0.0002Kif5 0.0002AKif5
H3 =vrrRoezoftsd | mgl 0.002A 0.002A 0.002A3 0.002A
B 4 Hil 53
Hs 12 — Y 28w wr x> | mgl 0.0004K3i 0.0004K3i 0.0004A3if 0.0004K1i
H 6] HI 3
B 7 Hil 53
H 8 b 2 - v | mgL 0.04K:7ii 0.04 K7 0.04 K7 0.04 A7
H 9| O 74Ny (2—=F L~FL) | mgl 0.008 A 0.008 A 0.008 A 0.008 A
B 10 i} ES i | mg/L ko 0.064 it ko 0.06A it
H 11 Hil 3
Hiz2| = i il H #
ABlOY Z7aw 7w b=1FrVY | mgl okt 0.001 sk 0.002
H 14 ok 7 v 7 — | mgl sk 0.003 ok 0.002 it
H 15 J E-S 1 BIHE  RIHEE S R
H 16 % ® i) # | mgL sk 0.7 ok 0.6
H 17 77”“/7(Aﬁ'ﬂ'“£*;“/7A%‘ mg/L 38 38 36 37
H18] ~v A vk OZxofkd® | mgl 0.001 A7 0.001 A i 0.006 0.001 A i
H 19 E At 17 i | mg/L 2,043 2.1 2,043 2,043
H 20 LIl = Y 7 emBo =% | mgl 0.03 A3 00343 0.03 A3 0.03 A3
H2l] AF AV —t—7FNLZ—F/ | mgl 0.002 4 i 0.002 4 i 0.002 4 i 0.002 4 i
H 22 E@ Vz‘/ﬁ%@gwu;@z\ (ggg mg/L 2.8 1.3 2.5 1.1
H 23 B 8 E (T O N ) | mgL WABEIRE D I A 2 FE
Ho4f 7% % P23 H ¥ | mgL 63 64 67 68
H 25 ki) & | mgL 0.6 0.1A35 0.7 0.1A35
H26| pH fl | o 7.7 7.5 7.5 7.4
B 27 R (Z 07U T HE B [ e ok -15 ok 1.7
Hog| & B K ® M W |[HREmL 170 4 140 9
H 29 1 —Y7wmv8p=xF L v | mgl 0.01 AT 0.01 AT 0.01 AT 0.01 AT
A30| 7A3=wagkozoftdy | mgL 0.01 0.06 0.03 0.02
H3ll®@PF OS & O®PF OA| mgL okt ok 0.000006 0.000006
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% K B ) B2 OH K 5
Bk #H R JEK EV/N JEK K
46 A 13 A 49 12A
(ORI hE, DT A TE) CRRORTH T AR
ok AFI4FE8H 1H
H 1 TryFELVETZOLEGY | mgl 0.002 4 i 0.002 4 i 0.002 4 i 0.002 4 i
H2 770y k 2o d ® | mgl 0.0002Kif5 0.0002Kif5 0.0002Kif5 0.0002Kif5
H3 =y rrRoezoftsd | mgl 0.002A 0.002A 0.002A 0.002A
B 4 Hil 53
Hs 12 — Y 28w wr x> | mgl 0.0004 K3 0.0004 K3 0.0004 K3 0.0004K1i
H 6 Hil 53
B 7 Hil 53
H 8 b 2 - v | mgL 0.04 K7 0.04A:7i 0.04 A7 0.04 A7
H 9| O 74Ny (2—=F L~F L) | mgl 0.008 A 0.008 A 0.008 A 0.008 A
H 10 #H # it | mg/L ) 0.06:A7ii ) 0.06:A i
H 11 Hil 3
Hiz2| = i il H #
B 13 Y suwvun7 kbh=rU| mgL stk 0.001 ok 0.001 A il
Au4lOom Xk 7 v 5 — | mgl okt 0.004 sk 0.004
H 15 = E-S 1 BIFHE 2 G
B 16 7% B - F# | mgL kst 0.8 sk 0.8
7| P ﬁ(bﬁéig ’7) UL e 35 36 36 37
Hisl ~v v rRozosd | mgl 0.006 0.001 A5 0.009 0.001 A5
H19 E At 17 iz | mg/L 204 2.3 2. 04 2.5
H 20 LIl = Y 7 emBo =% | mgl 0.03 A3 0.03 A3 0.03 A3 0.03 A3
H2l] AF AV —t—7FNLZ—F/ | mgl 0.0024 i 0.0024 i 0.0024 i 0.0024 i
H 22 zﬁ@v‘/ﬁ%gﬁﬁu;@mﬁ%%% mg/L 3.2 1.6 33 1.2
B 23 RO ®m E (T O N ) | mgL WABEIRE D I e & FE i
H 24 & 5 i ® B | mg/L 66 79 68 77
H 25 ki) & | mgL 0.8 0.1A35 1.7 0.1
H26| pH fl | o 8.5 7.5 7.8 7.5
B 27 R (Z 07U T HE B [ e ok -15 ok 1.4
Has| & J&8 % #® M B %%l 7000 9 990 1
H 29 1 —Y7wmvpBp=xF L v | mgl 0.01 AT 0.01 AT 0.01 AT 0.01 AT
H30] 7AI=0AROZTOLAEY | mgl 0.0 1A 0.07 0.02 0.07
H3ll®@P F OS & O®PF OA| mgL okt ok 0.000007 0.000005 45
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% K B ) B2 OH 5 K 5
Bk #H R JEK EVIN JEK K
AFI44E11H 148 ASH2A13A
Ooh ??EZE?E%@?)IEEE - A FI44E11 A TH A FISHELA 10 H
@ IEH 134 H) FR4EE11LA8H FRs4E2A8H
ko AFI5HFE2H8H
H 1 TryFEVEOTZOLEGY | mgl 0.002 4 i 0.002 4 i 0.002 4 i 0.002 4 i
H2 770k O2ofbd ® | mgl 0.0002Kif5 0.0002Kif5 0.0002Kif5 0.0002Kif5
H3 =vrrRoezoftsd | mgl 0.0024 0.002A3 0.002A3 0.002A
B 4 Hil 53
Hs 12 — Y 28w wr x> | mgl 0.0004 K3 0.0004K3if 0.0004K3i 0.0004 K3
H 6 Hil 53
B 7 Hil 53
H 8 b 2 - v | mgL 0.04 A7 0.04 A7 0.04A7i 0.04A:7i
H 9| O 74Ny (2—=F L~FL) | mgl 0.008 A 0.008 A 0.008 A 0.008 A
B 10 i} ES i | mg/L ko 0.064 it ko 0.064 it
H 11 Hil 3
Hiz2| = i il H #
B 13 vZ7uvnrn7 kh=rU | mgL ek 0.001 A il sk 0.001
H 14 ok 7 v 7 — | mgl sk 0.002 sk 0.002 it
H 15 = E-S 1 BIFHE 2 i
B 16 7% B - F# | mgL kst 0.7 sk 0.7
H 17 77”“/7(2?7;*;:/7A%‘ mg/L 38 38 37 37
H18] ~r A rROZE0/EY | mgl 0.006 0.001Ait 0.007 0.001Ait
H 19 E At 17 i | mg/L 2,043 2.5 2,043 2,043
H 20 LIl = Y 7 emBo =% | mgl 0.03 A3 0.03 A3 0.03 A3 0.03 A3
H2l] AF AV —t—7FNLZ—F/ | mgl 0.002 4 i 0.002 4 i 0.0024 i 0.002 4 i
H 22 ﬁ@vyﬁ%g@wugﬁqﬁgg mg/L 3.1 1.1 2.9 1.3
23 B < @ E (T O N ) | mgL WD It A & Eofe
H 24 K 5 03 = Y | mglL 62 65 62 65
H 25 ki) & | mgL 1.1 0.1A35 1.2 0.1A35
H26| pH fl | o 7.6 7.6 7.5 7.5
B 27 R (Z 07U T HE B [ e ok -13 ok 1.6
Hog| & B K ® M W |[HREmL 2200 67 420 9
H 29 1 —Y7wmv8p=xF L v | mgl 0.01 AT 0.01 AT 0.01 AT 0.01 AT
H30| 7AI=0AROZF0E&Y | mgl 0.03 0.06 0.01 0.02
H3ll®@PF OS & O®PF OA| mgL ok ok 0.000006 0.000006
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% K B 3) w2y K 5
Bk #H R JEK EV/N JK K
4516 A AMAFETALILA
(ODIE Ea;i ﬁﬁ&%‘iiﬁaﬁ R 4523 A AM4AFETAI9A
ok AFI4FE8H 1H
H 1 TryFELVETZOLEGY | mgl 0.002 4 i 0.002 4 i 0.002 4 i 0.002 4 i
H2 770y k 2o d ® | mgl 0.0002Kif5 0.0002Kif5 0.0002Kif5 0.0002Kif5
H3 =y rrRoezoftsd | mgl 0.002A 0.002A 0.002A 0.002A
B 4 Hil 53
Hs 12 — Y 28w wr x> | mgl 0.0004 K3 0.0004 K3 0.0004 K3 0.0004K1i
H 6 Hil 53
B 7 Hil 53
H 8 b 2 - v | mgL 0.04 K7 0.04A:7i 0.04 A7 0.04 A7
H 9| O 74Ny (2—=F L~F L) | mgl 0.008 A 0.008 A 0.008 A 0.008 A
H 10 #H # it | mg/L ) 0.06:A7ii ) 0.06:A i
H 11 Hil 3
Hiz2| = i il H #
B 13 Y suwvun7 kbh=rU| mgL stk 0.001 ok 0.001 A il
Au4lOom Xk 7 v 5 — | mgl okt 0.004 sk 0.004
H 15 J E-S 1 BHE  RIEE SR
B 16 7% B - F# | mgL kst 0.8 sk 0.7
7| P ﬁ(bﬁéig ’7) UL e 38 40 36 37
Hisl ~v v rRozosd | mgl 0.026 0.001 A5 0.033 0.001 A5
H19 E At 17 iz | mg/L 204 2.7 2. 04 2.5
H 20 LIl = Y 7 emBo =% | mgl 0.03 A3 0.03 A3 0.03 A3 0.03 A3
H2l] AF AV —t—7FNLZ—F/ | mgl 0.0024 i 0.0024 i 0.0024 i 0.0024 i
H 22 ﬁ.@v‘/ﬁ%@wu ;%A . %%% mg/L 4.9 0.9 4.1 1.4
B 23 RO ®m E (T O N ) | mgL WABEIRE D I e & FE i
Ho4f 7% % P23 H ¥ | mgL 70 72 72 75
H 25 ki) & | mgL 5.4 0.1A35 42 0.1
H26| pH fl | o 7.7 7.4 7.7 7.3
B 27 R (Z 07U T HE B [ e ok -15 ok 1.6
Has| & J&8 % #® M B %%l 2600 0 8800 2
H 29 1 —Y7wmvpBp=xF L v | mgl 0.01 AT 0.01 AT 0.01 AT 0.01 AT
A30| 7A3=wiakozotdy | mgL 0.11 0.04 0.08 0.07
H3ll®@P F OS & O®PF OA| mgL okt ok 0.000009 0.000005 A1
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% K B 3) o2y K 5
Bk #H R JEK EVIN JEK K
A FI44E10H 178 ARSI 16A
Ooh ??EZE?E%@?)IEEE - A FI44E11 A TH A FISHELA 10 H
@ IEH 134 H) FF4FEI10/3 A FRSHFEIA10A
ko AFISFE2H6H
H 1 TryFEVEOTZOLEGY | mgl 0.002 4 i 0.002 4 i 0.002 4 i 0.002 4 i
H2 770k O2ofbd ® | mgl 0.0002Kif5 0.0002Kif5 0.0002Kif5 0.0002Kif5
H3 =vrrRoezoftsd | mgl 0.0024 0.002A3 0.002A3 0.002A
B 4 Hil 53
Hs 12 — Y 28w wr x> | mgl 0.0004 K3 0.0004K3if 0.0004K3i 0.0004 K3
H 6 Hil 53
B 7 Hil 53
H 8 b 2 - v | mgL 0.04 A7 0.04 A7 0.04A7i 0.04A:7i
H 9| O 74Ny (2—=F L~FL) | mgl 0.008 A 0.008 A 0.008 A 0.008 A
B 10 i} ES i | mg/L ko 0.064 it ko 0.064 it
H 11 Hil 3
Hiz2| = i il H #
B 13 vZ7uvnrn7 kh=rU | mgL ek 0.001 A il sk 0.001
H 14 ok 7 v 7 — | mgl sk 0.002 sk 0.002 it
H 15 J E-S 1 BRI A S
B 16 7% B - F# | mgL kst 0.8 sk 0.7
H 17 77”“/7(Aﬁ'ﬂ'“£*;“/7A%‘ mg/L 37 36 37 37
H18] ~r A rROZE0/EY | mgl 0.017 0.001Ait 0.012 0.001Ait
H 19 E At 17 iz | mg/L 2. 04 23 2. 04 2.4
H 20 LIl = Y 7 emBo =% | mgl 0.03 A3 0.03 A3 0.03 A3 0.03 A3
H2l] AF AV —t—7FNLZ—F/ | mgl 0.002 4 i 0.002 4 i 0.0024 i 0.002 4 i
H 22 ﬁ@ 7?\/77%@?77”;@1\ (ggg mg/L 3.6 1.3 4.4 1.0
23 B < @ E (T O N ) | mgL WD It A & Eofe
Ho4| & % %% E.H % | mgL 66 68 69 68
H 25 ki) & | mgL 24 0.1A35 34 0.1A35
H26| pH fl | o 7.7 73 7.5 7.4
B 27 R (Z 07U T HE B [ e ok -1.6 ok 1.7
Hog| & B K ® M W |[HREmL 1200 0 1500 1
H 29 1 —Y7wmv8p=xF L v | mgl 0.01 AT 0.01 AT 0.01 AT 0.01 AT
H30| 7AI=0AROZF0E&Y | mgl 0.06 0.04 0.06 0.02
H3l|®@PF OS & O® PF O A | mgL ok ok 0.000006 0.000006
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B oK B “4) & Hr & K 5
Bk #H R JEK EV/N JEK K
4516 A AMAFETALILA
(ODIE Ea;i ﬁﬁ&%‘iiﬁaﬁ R 4523 A AM4AFETAI9A
ok AFI4FE8H 1H
H 1 TryFELVETZOLEGY | mgl 0.002 4 i 0.002 4 i 0.002 4 i 0.002 4 i
H2 770y k 2o d ® | mgl 0.0002Kif5 0.0002Kif5 0.0002Kif5 0.0002Kif5
H3 =y rrRoezoftsd | mgl 0.002A 0.002A 0.002A 0.002A
B 4 Hil 53
Hs 12 — Y 28w wr x> | mgl 0.0004 K3 0.0004 K3 0.0004 K3 0.0004K1i
H 6 Hil 53
B 7 Hil 53
H 8 b 2 - v | mgL 0.04 K7 0.04A:7i 0.04 A7 0.04 A7
H 9| O 74Ny (2—=F L~F L) | mgl 0.008 A 0.008 A 0.008 A 0.008 A
H 10 #H # it | mg/L ) 0.06:A7ii ) 0.06:A i
H 11 Hil 3
Hiz2| = i il H #
H13 v s7mu7 h=FY/ | mgL ok 0.001 A7 ok 0.001 A7
Au4lOom Xk 7 v 5 — | mgl okt 0.002 sk 0.002
H 15 = E-S 1 BIFHE a2
H 16| O 7% #® 7} # | mgL sk 0.9 sk 1.0
7| P ﬁ(bﬁéig ’7) UL e 38 39 35 36
Hisl ~v v rRozosd | mgl 0.023 0.001 A5 0.016 0.001 A5
H19 E At 17 iz | mg/L 204 29 204 2.6
H 20 LIl = Y 7 emBo =% | mgl 00343 00343 0.03 A3 0.03 A3
H2l] AF AV —t—7FNLZ—F/ | mgl 0.002 4 i 0.002 4 i 0.002 4 i 0.002 4 i
H 22 zﬁ@»«yﬁ%ﬁgﬁu ;%A . %%% mg/L 4.0 0.9 4.2 1.2
B 23 RO ®m E (T O N ) | mgL WIS D I e & FE i
Ho4f 7% % P23 H ¥ | mgL 72 74 68 77
H 25 ki) & | mgL 5.0 0.1A35 2.0 0.1A35
H26| pH fl | o 7.6 73 7.4 7.2
B 27 R (Z 07U T HE B [ e ok -1.6 ok 1.7
Has| & J&8 % #® M B %%l 1700 7 1000 20
H 29 1 —Y7wmvpBp=xF L v | mgl 0.01 AT 0.01 AT 0.01 AT 0.01 AT
A30| 7A3=wiakozotdy | mgL 0.11 0.04 0.04 0.05
H3ll®@P F OS & O®PF OA| mgL okt ok 0.000008 0.000005 45
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2/ N ) “4) K& Hr & K
Bk #H R JEK EVIN JEK K
A FI44E10H 178 ARSI 16A
Ooh ??EZE?E%@?)IEEE - A FI44E11 A TH A FISHELA 10 H
@ IEH 134 H) FF4FEI10/3 A FRSHFEIA10A
ko AFISFE2H6H
H 1 TryFEVEOTZOLEGY | mgl 0.0024 i 0.0024 i 0.0024 i 0.0024 i
H2 770k O2ofbd ® | mgl 0.0002AKif5 0.0002AKif5 0.0002AKif5 0.0002K i
H3 =vrrRoezoftsd | mgl 0.002A 0.002A 0.002A 0.002A
B 4 Hil 53
Hs 12 — Y 28w wr x> | mgl 0.0004 K1 0.0004K3i 0.0004K3i 0.0004K3i
H 6 Hil 53
B 7 Hil 53
H 8 b 2 - v | mgL 0.04 A7 0.04 A3 0.04A7ii 0.04A:7ii
H 9| O 74Ny (2—=F L~FL) | mgl 0.008 A 0.008 A 0.008 A 0.008 A
B 10 i} ES i | mg/L ko 0.064 it ko 0.064 it
H 11 Hil 3
Hiz2| = i il H #
B 13 vZ7uvnrn7 kh=rU | mgL ek 0.001 A il sk 0.001
H 14 ok 2 v 5 — | mglL ok 0.002A1 ok 0.002A1ii
H 15 J E-S 1 BHE  RIEE S R
B 16 7% B - F# | mgL kst 1.0 sk 0.8
H 17 77”“/7(2?7;*;:/7A%‘ mg/L 37 37 38 37
H18] ~r A rROZE0/EY | mgl 0.020 0.001Ait 0.010 0.001Ait
H 19 E At 17 iz | mg/L 2. 04 2.8 204 2.4
H 20 LIl = Y 7 emBo =% | mgl 0.03 A3 0.03 A3 0.03 A3 0.03 A3
H2l] AF AV —t—7FNLZ—F/ | mgl 0.002 4 i 0.002 4 i 0.002 4 i 0.002 4 i
A2l oy momnyn nagem, | ™0 36 Il 36 Il
23 B < @ E (T O N ) | mgL WD I 7 & Eofe
H 24 K 5 03 ® B | mg/L 65 69 70 71
H 25 ki) & | mgL 26 0.1A35 35 0.1A35
H26| pH fl | o 7.6 73 7.6 7.4
B 27 R (Z 07U T HE B [ e ok -1.6 ok 1.7
Hog| & B K ® M W |[HREmL 820 0 1400 45
H 29 1 —Y7wmv8p=xF L v | mgl 0.01 AT 0.01 AT 0.01 AT 0.01 AT
H30| 7AI=0AROZF0E&Y | mgl 0.08 0.06 0.05 0.02
H3l|®@PF OS & O® PF O A | mgL ok ok 0.000006 0.000006
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% K %o 5) oW B WK Y
Bk #H & JK EV/N JK K
4516 A AMAFETALILA
(O Ea;i ﬁﬁ&%‘iiﬁaﬁ ) 4523 A AM4AFETAI9A
ek AFI4FE8H 1 H
H 1 TryFELVETZOLEGY | mgl 0.002 4 i 0.002 4 i 0.002 4 i 0.002 4 i
B 2 7S5k W®™EONES W | mgL 0.00024it5 0.00024it5 0.00024it5 0.00024it5
H3 =y rrRoezoftsd | mgl 0.002A 0.002A 0.002A 0.002A
B 4 Hil 53
Hs 12 — Y 28w wr x> | mgl 0.0004 K3 0.0004£3i 0.0004 A3 0.0004 A3
H 6 Hil 53
B 7 Hil 53
H 8 b 2 - v | mgL 0.04K:7ii 0.04 K7 0.04K:7ii 0.04K:7i
H 9 TEANVEEY (2—2F L~F ) | mgL 0.0084 ik 0.0084 ik 0.0084 ik 0.0084 ik
H 10 #H # it | mg/L i 0.06:A i i 0.06:A i
H 11 Hil 3
Hiz2| = i il H #
H13 v s7mu7 h=FY/ | mgL ok 0.001 A ok 0.001 A7
H 14 ok 7 v 7 — | mgl sk 0.002 ok 0.002 it
H 15 J E-S 1 BHE  RIEE SR
B 16 7% B - F# | mgL kst 0.8 skt 1.0
7| P ﬁ(bﬁéig ’7) R 38 40 36 38
Hisl ~v v rRozosd | mgl 0.026 0.001 A i 0.022 0.001 A5
H19 E At 17 iz | mg/L 2.0 3.1 2. 04 2.3
H 20 LIl = Y 7 emBo =% | mgl 0.03 A3 0.03 A3 0.03 A3 0.03 A3
H2ll] *Fnr—t—7FLx=—70 | mglL 0.002: it 0.002: it 0.002: it 0.002: it
H 22 ﬁ.@v‘/ﬁﬁ%@gﬁu;ﬂ %\ﬁ,%%% mg/L 3.9 0.8 4.1 0.9
B 23 RO ®m E (T O N ) | mgL WABEIRE D I e & FE i
Ho4f 7% % P23 H ¥ | mgL 74 74 80 79
H 25 ki) | mg/L 5.9 0.1A35 4.1 0.1A35
H26| pH fl | o 7.5 7.4 7.4 73
B 27 R (Z 07U T HE B [ e ok -15 ok 1.6
Hog| & B K ® M W |[HREmL 2100 2 1800 4
H 29 1 —Y7wmvpBp=xF L v | mgl 0.01 AT 0.01 AT 0.01 AT 0.01 AT
H30| 7AI=0AROZF0{E&Y | mgl 0.15 0.02 0.08 0.04
H3ll®@P F OS & O®PF OA| mgL okt ok 0.000008 0.000005 45
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% K B () o omH o oK 5
Bk #H R JEK EVIN JEK K
A FI44E10H 178 ARSI 16A
Ooh ??EZE?E%@?)IEEE - A FI44E11 A TH A FISHELA 10 H
@ IEH 134 H) FF4FEI10/3 A FRSHFEIA10A
ko AFISFE2H6H
H 1 TryFEVEOTZOLEGY | mgl 0.0024 i 0.0024 i 0.0024 i 0.0024 i
H2 770k O2ofbd ® | mgl 0.0002AKif5 0.0002AKif5 0.0002AKif5 0.0002K i
H3 =y A ROZola&® | mgl 0.002 4 i 0.002 4 i 0.002 4 i 0.002 4 i
B 4 Hil 53
Hs 12 — Y 28w wr x> | mgl 0.0004 K1 0.0004K3i 0.0004K3i 0.0004K3i
H 6 Hil 53
B 7 Hil 53
H 8 b 2 - v | mgL 0.04 A7 0.04 A3 0.04A7ii 0.04A:7ii
H 9| O 74Ny (2—=F L~FL) | mgl 0.008 A 0.008 A 0.008 A 0.008 A
B 10 i} ES i | mg/L ko 0.064 it ko 0.064 it
H 11 Hil 3
Hiz2| = i il H #
B 13 vZ7uvnrn7 kh=rU | mgL ek 0.001 A il sk 0.001
H 14 ok 2 v 5 — | mglL ok 0.002A1 ok 0.002A1ii
H 15 J E-S 1 BHE  RIEE SR
B 16 7% B - F# | mgL kst 1.0 sk 0.8
H 17 77”“/7(Aﬁ'ﬂ'“£*;“/7A%‘ mg/L 37 36 38 37
H18] ~v A vk OZxofkd® | mgl 0.034 0.001 A i 0.012 0.001 A i
H 19 E At 17 iz | mg/L 2. 04 22 204 2.6
H 20 LIl = Y 7 emBo =% | mgl 0.03 A3 0.03 A3 0.03 A3 0.03 A3
H2l] AF AV —t—7FNLZ—F/ | mgl 0.002 4 i 0.002 4 i 0.002 4 i 0.002 4 i
A2l oy momnyn nagem, | ™0 38 06 38 Il
23 B < @ E (T O N ) | mgL WD I 7 & Eofe
H 24 K 5 03 = Y | mglL 71 68 72 73
H 25 ki) & | mgL 53 0.1A35 47 0.1A35
H26| pH fl | o 7.6 7.5 7.5 7.4
B 27 R (Z 07U T HE B [ e ok -15 ok 1.7
Has| #& J&8 % #® M B |4l 720 0 2300 8
H 29 1 —Y7wmv8p=xF L v | mgl 0.01 AT 0.01 AT 0.01 AT 0.01 AT
A30| 7A3=wagkozoftdy | mgL 0.14 0.04 0.07 0.02
H3ll®@PF OS & O®PF OA| mgL ok ok 0.000006 0.000006
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B 1 TryFEUVROTZEDOAEY | mgl 0.002 A 0.002 A1
H 2 7S5k W®™EONES W | mgL 0.000241it5 0.000241if5
H 3 Zw LR OZEOE Y | mgl 0.002 A 0.002A1ii
B 4 Hil 53
H 5 1,2 — Y 7 o nu = % v | mgl 0.000441it5 0.000447it5
H 6 Hil 53
B 7 Hil 53
H 8 b v £ v | mgL 0.04 43t 0.044 it
H 91O 74Ny (2—=F ~F L) | mgl 0.008 it 0.008 A
H 10 i} # i | mg/L 0.064 it 0.06A it
H 11 Hil 3
Hiz2| = i il H #
BBOY 7uee 7 v h=FU/ | mgL 0.001 A il 0.002
14O K& 27 v 5 — | mgL 0.003 0.007
H 15 J E-S ¥ B BRI E SR
H16[ O %% ® # # | mgL 0.8 0.8
H 17 ﬁ’”VW(Aﬁ'E'“é*;VWA% mg/L. 39 37
H18 v~ RO EDE D | mg/L 0.001 A7 0.001 A1
H 19 E At 174 i | mg/L 2.9 42
H 20 LLLl —FYVZmuu=x | mgl 0.03 it 0.03 il
H 21 AF N —t—TFnrxz—51 | mglL 0.002 A1 0.002A1ii
72 Gaeowrmnyoninnn | " e H
B 23 B ® E (T O N ) | mgL WBERF D Kt FEft
H 24 & 5 i E.y Y | mglL 85 70
H 25 % & | mg/L 0. 1A 0. 1A
H26| pH fili | e 7.4 7.2
B 27 R (Z 07U T HE B [ e -1.4 -1.6
Hog| & B K ® M W |[HREmL 11 18
H 29 11— Y Z7muv=xF Ly | mgl 0.01 Al 0.01 Al
H30| 7AI=0AROZF0{E&Y | mgl 0.05 0.04
H3l/@PF OS & " PF OA/| mgL okt 0.000006
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ik BFISE2ATA
B 1 TryFEUVROZEDOAEY | mgl 0.002 A1 0.002A1ii
H 2 7SRk WY™E DS W | mgL 0.000241it5 0.000241it5
H 3 Zw LR OZEOE Y | mgl 0.002 A 0.002A1ii
H 4] HI 3
H 5 1,2 — Y 7 o u = % v | mgl 0.0004 475 0.0004 415
H 6 Hil 53
H 71 HI 3
H 8 b v £ v | mgL 0.04 43t 0.04 43t
B 9|O 741y (2—=F ~F L) | mgL 0.008 A 0.008 A1
B 10 i} ES i | mg/L 0.06A it 0.064 it
H 11 Hil 3
Hiz2| = i il H #
AB|lOYy Z7awe 7 b=1FrVY | mgl 0.002 0.002
14O K& 27 v 5 — | mgL 0.004 0.003
H 15 J E-S ¥ oLl i B % e S
H 16| © %% ® # # | mgL 0.8 0.7
A 17 ﬁ’”VW(Aﬁ';é*;“/WA% me/L 41 38
H18 AR EDE D | mg/L 0.001 A7 0.001 A1
B 19 Bl i 174 f% | mgL 3.0 23
H 20 LLLl —FYVZmuu=x | mgl 0.03 4l 0.03 il
H 21 AF N —t—TFnrxz—51 | mglL 0.002 A7 0.002A1ii
72 Gaeonrmnyonimn | " 1'3 -
B 23 B 8 E (T O N ) | mgL WBERF D KA FEft
H 24 K 5 03 = Y | mglL 73 73
H 25 % & | mg/L 0. 1Al 0. 1A
H26| pH fili | e 7.5 7.4
H 27 R (Z 07U T HE B [ e -1.4 -1.7
Has| #& J&8 % #® M B |4l 25 1
H 29 11— Y Z7muv=xF Ly | mgl 0.01 Al 0.01 Al
H30| 7AI=0AROZF0E&Y | mgl 0.04 0.02
H31|@PF OS %k O®PF OA | mgL okt 0.000006
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